MareMaTndecKum

ANKTAHT




1) 50 yBesimuuTh B 2 pasa
50=2=100

2) 38 yBeqnuuTh Ha 29;
38 +29 =67

3) Uucio 100 ymeHbIIuTh HA 54;
100 — 54 =46

4) 1000 ymensmuts B 10 pas3s;
1000 :10=100

5) Uucio 32 yBeauuurb HaA 49;
32+ 49 =81




6) ‘Incno 48 yBeJII/I‘II/ITb B 100 pa3,
48 100 = 4800
7) 82 yMeHbIIUTH HA 35;
82 —-35=47
8) Uuciio 38 yBeJnuuThH HaA 53;
38 +53=91

9) 5600 ymenbmiuTh B 80 pa3s;
5600 : 80 =70
10) YUuciao 600 yBeanuurs B 90 pa3s;
600 e 90 = 354000




NG
g o

3amnucarhb Yucia:

13008, 74002, 2060, 125340, 5080,
2304060, 125009, 1001, 10056,
250050050.




